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Section — II: English

te option to complete the passage/sentence.
ate

' Answer Q.16 to Q.19 by choosing the appropts (Q.17) a curious mixture of varied

apes, .
Man - (Q:16) is believed to have evolved 0% P (Q.19) also their creator. He also seeks to
motives. He is not only ...... (Q.18) subjects of needs -
satisfy his needs and caters to his desires-

16. (A) which (B) when
SE)  while (D) who
17. (A) am (B) arc
C€) is . (D) has
18. (A) to (B) the
C) a ' (D) an
19. ¥ but ' (8) and
€) to (D) the

20. Convert into passive voice _ ol
‘We must face the new situations with a creative mind. q
(A) New situations need faced by us with a creative mind.

(&) New situations must be faced by us with a creative mind.

L (B) New situations must face us with a creative mind.

(D) Everyone should face the new situations with a creative mind.

21. Give a word most similar in meaning to the word ‘exhorting’?

(A) urging \(BY sup;_)or.ting
(C) demanding (D) clarifying
22. Opposite meaning of the word ‘seeks’ is --------.
* (A)~ deplores (B) avoids
) vanishes (D) approaches

| Direction : Which option fits best in th;’,\glanks in Q.23 to Q.25

23, e we should accept the offer.
\_kA) think (B) will think
(C) should think (D) would think
24. Neither he nor his servant ---------- .
| (A) leave (B) have left
Was left (D) isleft
- 25. My sister is ---------- than [ am

(A) more stronger (B) most stronger

AC) stronger (D) strong

;
i
i
3

Give one word for the following phrase -

26. Ong who eats everything

) - omnipotent (B) insolvent
(C) irresistible (D) - omnivoroys
5
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: ce in indirect speech.
Select the alternative which best expresses the same senten

27. He said, “can you sing?” and I said, “no”.
(A) He asked me that could | sing and I refused.
(B) He asked me if' I could sing and I replied that I could not.
(C)  Idenied, when he asked me if you could sing,.
(D) He asked me if' I could sing and I said no.

Read the following passage carefully and answer Q.28-30.

The Aryans were keen hunters and caught lions and hunted boars with dogs. But their favourite
sport was racing in chariots drawn by swift horses. After the races, they had open-air dancing and
singing. Like other ancient people, they worshipped at first many Gods of the storms. For a long
time their chief God was Indra. As centuries passed and the Aryans settled and developed their
farming and trade in the conquered lands, the people became divided into four main castes, the
Brahmans, the Kshatriyas, the Vaishyas and the Shudras. The duties of these four groups were
described in ancient laws called the ‘Manu Samhita’ or the Laws of Manu.

28.  The favourite sport of the Aryans was

(A) hunting (B) chariot race
) horse race (D) dancing and singing
29. For a long time, the chief God of the Aryans was
(A) Sun God ~ (B) the God of Storms
~C) Indra (D) God of Sky
30. Who helped the Aryans in hunting?
YA) Lions (B) Dogs -
(C) Bears (D) Their God

JobsGujarat.in
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Directions: For each question (
which only one is correct. You a

fr¥er : wee wvd & forg (T.H.
v Gt 21 TRl WE I FTART

31.

33.

34.

35.

36.

37.

Section —II1 : Mathematics

a:am—m:vrﬁrm

Which of the following is not true?

(A) 8/7+ 3/8 = 3/8 +8/7
(B) 8/7x3/8= 3/8 x 8/7
(C) 8/7/3/8=8/Tx 8/3

(D) 8/7-3/8= 3/8 - 8/7
The product of a non zcro rational number
and its reciprocal 1§ =========="".

(A) 1

(B) 0

©) rational number itself

(D) reciprocal of rational number

Square of which of the following number

will have 6 at its unit place?

(A) 38 (B) 24

(C) 32 (D) 45

How many natural numbers exist between
the squares of 28 and 297

(A) 30 (B) 58

(C) 56 (D) 60

The value of \/5?6‘ ++/81 is:

(A) 5 (B) 6

) 7 (D) 8

Which on¢ of the following will have cube
root ending with 37

(A) 35937 (B) 46656

(C) 39304 (D) 50653

0.04 x 0.04 % 0.04="7

(A) 0.064 (B) 0.00064

© 0.0064 (D) 0.000064

Q.Nos. 31 to 65) four possible choices have been gi
re to select the correct answer and fill in the OM“l%lvhen, out of
sheet.

31 @ 65 m)mwﬁﬁmﬁwqﬁ!m -
sitgua viie # ¥ R g ® e

31. e ® | &9 a1 79 98 ®7

(A) 8/7+3/8=3/8+8/7

(B) 8/7x3/8=3/8x8/7

(Cy 8/7/3/8=8/7x8/3

(D) 8/7-3/8=3/8-8/1

e -y R G T FEE ST

32.
e BT @
A 1
O . -
(C) dfea we ¥
(D) qf@T g &1 FgohH
33. ﬁﬂﬁﬁmm%aﬁﬁﬁéﬁm
weRM?
A 38 B 24
(C) 32 (D) 45
34. 283ﬁt29é5a1faaaﬁ'q'{%|aa=ﬁq@%$
Ay 30 B) 58
(C) 56 (D) 60
35, V256 +/81 1AM &:
(A) 5 (B) 6
(& 7 (D) 8
36. fer # fre wE ¥ TS BT I
et ?
(A) 35937  (B) 46656
(4€) 39304 (D) 50653
37. 0.04 x 0.04 x 0.04="7
\¢A)0.064  (B) 0.00064
(C) 0.0064 (D) 0.000064

[P.T.O.
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38.

39,

40.

41.

42.

43.

44. -

45.

The least numper by which 81 be divided
to make a perfect cube is

(A) 1 B) 3
©) 2 (D) 4
The standarq form of 12300000 is
(A) 1.23 x 108
(C) 1.23 x 197

---------

(B) 12.3 x 108
(D) 1.23 x 10°

Z % (ZZ)~4 =9
(A) 2“7 (B) Z7
© 2z (2

If a family of 10 persons purchases ration
for 15 days and five guests join the family
from the first day. How long w
last? '
(A) I5days (B) 12 days
(C) 10days (D) 8 days

If the distance travelled by a rickshaw in
one hour is 10 km, the distance covered by
the same rickshaw with the same speed in

ill the ration

one minute will be:..

(A) 250/9m (B) 500/9m

(C) 1000m (D) 500/3m

If Nidhi purchases a book of Rs. 500 and
GST is 12 per cent. She will pay Rs. ---——- ,

(A) 60 (B) 560
(C) 640 (D) 660 |
If a number is increased by 30% and then

decreased by 30%, the net increase/
Jecrease percentage will be:
(A) 9 (B) 4

(C). 16 D) 1

The compound interest O |
per annum for two years will be
(A) Rs.2 (B) Rs. 2.10

n Rs. 10 @ 10%

-----------

: FT A A W
38. WWH@T’WSI

e ot o AT BT € - d

(A) 1 B) 3

©) 2 \b) 4 .
39. 12300000 T Hah §9 --;-2'-;"-108

123x10°  (B) 123
ﬁ 123x107 (D) 1.23 % 10°

40. Zx (Zz)“1 =9

(C) Z—8 ZS

41, 3R 10 S 1 T GRAR 15 T @ avm
adear 2 3K ued for @ 9i9 AgAE I
13 ¥ 7g e A feq s ?

A) 15fm @®) 12
\@f 10fs (D) 8w
42. afc ww f@m 1 9 & 10 km R T FA
& v wf @ R gRT o B &

Ly 2509m (B) 500/9m
(C) 1000m (D) 500/3 m

43. wﬁﬁﬁrsoos.n@‘ﬁ@m@ﬁaﬁ}
® R SEe St ww & 12 wftea & @
U TRT <7 A |

L 60 \BY360

©) 640 (D) 660
44. Hﬁ:%ﬁﬁwﬁ 30% qf\geﬁmﬁaaﬁ_{
| ﬁﬂwﬁso%'aﬁmﬁw%lwﬁ
W e /wh % 2l |
70 (B) 4
(© 16 (D) 1
10 & W 109,
THIg =™

@) 2%,

45,

(C) Rs.2.20 (D) Rs.230

(C) 2.20%. D 230%,
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46.

47.

48.

49.

50.

S1.

52.

53.

Which of the following is like 322%°x"?

(A) 8z ><3y x x°
(B) 6z7%x 6x% x)*
(C) 8y?xdx?xz?
(D) 6z° x 3x* xy?

. 2.3
The irreducible factorisation of 63zy'x

(B) 9-% x 7y% x 2x
(€) 922 x Tx x )’
(D) 3z° x Tx X 3y3

3a  2b\(3a 21))_,,
— Yt — | ==
5 3)Q5 3

3a2  2b? 9a* _fﬁ
9a2  4b? 9a% 4b*
Oz ©O5F3
(2005) — (1995)* =?
(A) 40000 (B) 4000
(C) 4025 (D) 40225

The area of a square is 9x° + 24xy + 16y°.
Its side will be:

(A) 3x-4° (B) 3x-4y

(C) 3x+4y" (D) 3x+4y
If3x—4(64—x)=10, thenx="?

(A) 133 (B) 38

(C) 286 (D) 66.5

The present age of the father is three times
than that of his son. After three years the
age of the father will be 7 years more than
twice the age of the son. The present age of
the son is ------- years.

(A) 8
(©) 10 (D) 11

The sum of five consecutive multiples of 6
is 2040. Find the largest multiple.

(A) 420 (B) 528

(C) 456 (D) 450

46.

47.

48.

49.

50.

31.

52.

33.

327%°x” o @HH UE ¥4 27

(A) 8z° ><3y x x*
(B) 622 x 6x* ><y
\(QfSy ><4x ><z2
(D) 622 % 3x* x
632%)°x il TGS TGS - 3
Ay 97yx
(B) 922 x Ty’ x 2x
(C) 92 x Tx %y’
(D) 32% x Tx x 3y’
3a+.2_b_)(£_22) ?
573N 3 )
3a2  2b? 9aq2 4b?
N e A
9a2  4b? 9a2  4b>
© 255 P33
(2005)* - (1995)2 =? @ee
(A) 40000 (B) 4000
(C) 4025 ( (B) 40225
& a1 1 %A 9x° +24xy+ 16)” 21
T YT oo il
(A) 3x-47 (B) 3x-4y
(C) 3x+4HA_4D) 3x+4y
IR 3x—4 (64 -x)=10,Mx="2
(A) 133 By 38
(C) 286 (D) 66.5
e &t aiwm sy g3 it sy A = it
1 o =g frar £ smg g A oy &
TR ¥ 7 9 afis Sl @ fi aeﬁm
L R T 2
A8 | \ B 9
©1wn - o1
6 % Ui ARG U W AW 2040 R
TR I P W R ).
(A) 420  \A«B) 528 \0.'."-1\5
0
(C) 456 (D) 450 e
¥s  [P.T.O.
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34.

Ss.

S6.

57.

58.

59.

60.

61.

pd

15 addeq ¢ the product of yand 13 giveus | 54. y i 13 % W ------- gl
54. The value of y is: S 3y A --
©3 o N D4 -
o g (D) 4 ) 3 &Wmm:sma‘mﬁ
f‘_ Our angles of 5 Quadrilateral are in the | 55. T& ;@iﬂ ) =l
Iatio of 3:4:5.¢ The largest angle is: d Al 80
(A) 160 (B) 80 (A) 160 ) 120
© 100 D) 120 (©) 100 © # AB = 6 cm,
nga_ Avadrilateral ABCD, op - 6 om, | 56, af: wgds  ABCD A 3% D F AW
=8 cm and gy of angles A and D is CD = 8 cm X F1
180°. This jg -..._____ _ 180° 2| 7E FHT ---mmrmv i
(A) Parallelogram (B) Trapezium (A) HHTIT B)
(C) rhombus (D) square (©) T (D) T
On‘e otj the diagonals of a thombus is equal | 57. afe Th FHIGHS H T oo oo
to its side. Its larger angle is: % TR & | TAHT TN BT —oememe B
(4) 120°  (B) g0 A4) 1200 ey 90°
©) 60° (D) 160° (C) 60° (D) 160°
The diagonals of a rhombus are 5 cm and 7| 58. wh wiEgHE F ol 5 om afit 7 cm §
cm. Its area will be ------—- cm’. TR ATHT oo cm? Kull ‘
W1z ® s W12 @) 175
(C) 35 o D) 70 35 (D) 70
The area of the largest triangle that can be | 59, THEE L EEIERE IR, Eﬁgrg B %7 a1y e
fitted into a rectangle of the length L units T | T By A Ty EX P
and width B units will be ---------- units?, T AR i
(A) LB/3  (B) LB/6 \AATLBA gy g
(C) LB/4 (D) LB2 - ©LB4 (p) g,
360 m> water is used to irrigate rectangular | 0. T 40 m oy 3R 18 m Y
field of length 40 m and width 18 m. The | g 5 30, & R

height of the water level in the field will be AT A - R Iy 21
......... m. | (A) 0.5 Ueh) - m By
(A) 0.5 (]_Ii; 02 ©) 15 (D) (1)2
©) 1.5. ] ((mbe 'is increased to three | 61. 37fe & ¥y £ ?ﬁa
If the side of 2 will become --------- SLiED] _ NG| R & T &Y
times, its volume WIT T o TR T 8 Sy
times. ‘ \(A’) 6

B) 9 © 21 ) 9
(A) 6 ( (D
©un @7 7
' ; 10
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62. The radii of two cylinders are in the ratio | 62. Q= i'é & vl.éliqlaﬁ .a“ AE 1:2 § R
of 1:2 and heights are in ratio of 2:5. The TR AT 2:5 % B T AT H
ratio of their volume will be: SRR Rt &R
(A) 1:10 (B) 1:8 (A) 1:10 (B) 1:8
©) 15 (D) 2:9 \_(O) 15 (D) 2:9
63. How many cubic metres of carth must be | 63. Th 7 m e R 2 m = v AT A
dug to construct a 7 m deep well and & fou fRaft cubic ex L et
diameter is 2 m? Tt ?
(A) 35 (B) 32 (A) 35 (B) 32
(C) 22 (D) 14 (C) 22 ub) 14
64. A dice is thrown two times. The sum | 64. TH U@ H T TR Hhehl FET & I§ |
of numbers appearing on the dice can FM a G F AN F EWE qiomy
be -------- outcomes. | __________ T ¥ Bl
(A) 5 (B) 6 (A) 5 (B) 6
©) 11 (D) 18 \_A€) 11 (D) 18
65. The range of the following data is ------- 65. fo= artwet 1 afRER - I
_63_87 31 23 194s 2;5 —6,—8, 3,2, ]., 4, 2,5
(A) 10 B) 13 (A) 10 (B) 13
©) 1 D) 8 (©) 11 \(D> 8
Space for rough work & & & fore wam
ERVS
7 S
Ea
z.
\
%
/
CRECE
11
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68.

69.

70.

71.

72.

73.

ience
Section — IV : General Scien

JqET — 1V wrwr T

_________

(A) Bacteria (B) Algae
(C) Protozoa (D) Fungji

1s used in sowing,
(A) Sickle (B) Hoe
(C) Seed Drilj (D) Sprinkler

(A) bacteria
(C) amoeba

(B) virus
(D) fungus
Smallpox  vaccine
o) — :

(A) Louis Pasteur (B) Robert Koch

(C) Edward Jenner (D) Fleming

was discovered

Which one of the following is a thermo
setting plastic?

(A) Nylon (B) PvC

(C) Rubber (D) Bakelite ‘

Which one of the following reacts
vigorously with cold water?

(A) Sodium (B) Carbon

(C) Aluminium (D) Magnesium
Which property of copper is used for
making electric wires?

(A) ductility
(C) insulation

(B) good conductor
(D) being solid

Which of the following is not a constituent

of petroleum?
(A) paraffin wax (B) lubricating oil
(C) coke (D) petrol

been given, out of which
e

_______ 2

66.5{W®(B)§W

&)jﬁ;l?ﬁaﬂ (D) &A%
6 i 3 e A 2

(A) Efrn WW

©) #s fgm (D) FBFR N
68. W & gl M oo e
SR ]

\(A) St (B) fermmy

(C) smfta (D) el

69. BIE WAT F U T B AT omeee
: Fd

Ay UK (B) ¢ 19

(©) ©FE SR (D) wifim

- O =z
71.

(A) oiferm  (B) wtq
©) IR (D) Ty

2. FR F 5 o o 4 .
SR R e 20 ﬁﬁ.ﬁmmﬁ
(&) TTM \6B) w3 gerrerss
©) TT9F (D) 35 oy

73, Tl & - Y o
T R?

12
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74.  Which one of the following is nota natural
resource?
(A) water (B) minerals
(C) soil (D) rayon
75. The black thick liquid with unpleasant
smell is known as ~=----e-n-
(A) kerosene (B) coal-tar
(C) petrol (D) coke
76. Species is found exclusively in a specific
habitat. ,
(A) endemic (B) extinct
(C) endangered (D) fauna
77. The environmental impact of clearing large
patches of forests for cultivation of crops 1s
(A) soil pollution (B) soil fertility
(C) soil erosion (D) soil conservation
78. The leaves are green due to ------——---
(A) ribosome (B) mitochondria
(C) chloroplast (D) chlorophyll
79. Which one of the following is found in
cells of plant, animal as well as bacteria?
(A) chloroplast (B) cell membrane
(C) nucleus (D) cell wall
80. Hen -
(A) undergoes external fertilisation
(B) is oviparous
©) is viviparous
(D) undergoes internal fertilisation
g1. Inamoeba reproduction takes place by ---.

(A) external fertilisation
(B) internal fertilisation
(C) budding

(D) binary fission

13

74. T & @ =59 91 Waids dates 987 27
(A) ST (B) afq=t
(C) g1 \/(E)%qm

75, B T AT FEAT TGN G oo
Fedrdl e
(A) Ffew (B
(C) T ) FE

76.@3“@“‘3'@%&@%
qafarg # 9T ST €l

Tl B) focqd
\(gnm D RULEIS

= e @ A wA & i T S

77.
aﬂqufaquﬁmwamél

Any @ (B) T
(C) HaT A (D) Har ax&u

(/-e'&aﬂ?ﬁ (D) wufefa

79, f/= & & =1 Iy, aﬁqasﬁavgﬁ
T & 9T ST 87 .

) s (B) SR
(C) FsH (D) =ikt fifa

81.

[P.T.O.
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82.

83.

84.

85. Two thermocol balls held close to each

86.

87.

-
P

Insufficient production of --------- in the | 82. %l
.. lot qf@d 3{@ g Sl
tadpoles leads to their incomplete
development. } (B) 3‘{!%7‘7
(A) thyroxin (B) insulin \/(A) LR D HT%"*TQ'.
(C) nutrients (D) ducts © . A
At the onset of puberty --------- is relcased | 83. dtaered A TWP' - Soufy
by testes. Bar 2l .
(A) thyroxin (B) insulin (A) gradifead (B) 33’%:[
(C) testosterone (D) adrenaline (C T (D) Q@ﬁﬁq

A gas filled balloon moves up

because -------

(A) gravity force does not act on the
balloon

(B) there is no frictional force on the
balloon

(C) upward force on the balloon is more
than gravitational force
(D) upward force on the balloon is more
than frictional force

other move away because of
force.

(B) electrostatic
(D) frictional

(A) magnetic
(C) gravitational

Wearing of cartilage in the body
friction.

(A) increases

(B) decreases

(C) does not effect

(D) may increase or decrease

The handle of a cricket bat is usually rough
to
(A) get more run
(B) get ball on bat
(C) decrease friction
(D) increase friction

84. wH Ng A W TEE FO H IR W §
i |
o) T R el et TE

(B) 36 TR N wfor e T A

(C) FW FI AR T ATAT I I[GcaTHy
oo ¥ arftres Srar @ ‘

(D) FR Y AR A ATl S T 7
e g @

85. 9E-9TH @l YHihie Y B HS oo _
STt €
(A) T

NUL) TeeaTere

(B) =@
LIy
mr%}wa@m R #§

86. WR % 3Iyify
T H oo d
(A) SgTa
(B) werar
\y)mﬁm

14
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88.

89.

90.

91.

92.

93.

9.

) . . object the
If we increase the vibration i an < ]

time period will ----------
(A) increase in same proportion
(B) increasc in inversc pmporlion
(C) decrease in same proportion
(D) decreasc in inverse pmporlion

Ultrasound has

----------- frequency of
vibration.

(A) 20 Hz .

(B) between 20 to 20,000 Hz

(C) above 20,000 Hz

(D) less than 20 Hz

Iron is painted to
(A) give shiny appearance

(B) keep it for long

(C) save it from corrosion

(D) save it from electric current

of the following is not good
conductor of electricity.

(A) Tap water (B) Vegetable oil
(C) Vinegar (D) Lemon juice

Earthquakes can cause
(A) Tsunami, Floods, Landslide

(B) Tsunami, Lightening, Floods
(C) Tsunami, Lightening, Landslide
(D) Floods, Lightening, Landslide

When you rub the back of a plastic pen in

your hair and bring it near a small piece of
paper it attracts paper due to

(A) electrostatic force (B) friction
(C) magnetic force (D) gravity /

If the object is 5 cm away from the plane
mirror, the image formed by it and the

object will be
(A) 2.5
©) 10

15

89.

90. g & WM

91. frfafda # @

92. Y& & HRI

93.

9.

gp, A forell 76 B T ol sy ¥

JaRT AT FIA oo R
(B) S Wﬁm
(C)—aﬁa@qﬁﬁm.

(D) FaH FHAIIE | Tea
&t &1

(A) 20 Hz

(B) 20 3K 20,000 Hz % wex
\(©) 20,000 Hz & 3t
(D) 20 Hz & %A
(A) T8 THHIR A
\(B) & aftk ¥HA qh @
(C) TV 3NUEH | FAW
(D) 30 IA FE ¥ T9W

gTeh G eIl
\A) S &1 I (B) I9Efa A
(C) = (D) g &1 |
(A) FAH, &g, SEEem
(B) g, afsa, =g
L) TR, afed, eger
(D) =g, Tfeq, sE@e
S AT TF WIEeH 99 & 9 T 3
A A TE T AR F DI THS & T
I ER I A F F FRO AT
AR AR wEar 81«
(A)a-gaaa_»\./(B)w
(C) T=HT 9 (D) TecqE
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95. A ray of light €an be reflected

96.

97.

98.

99.

100.

times by two plane mirrors
and facing each other.

(A) 2 (B) 4
(©) 8 (D) infinite
Planet Venus is algo known ag
(A) Pole star
(C) Star Sirius

placed parallel

(B) Moming star
(D) Jupiter
A star is fifieep light years away from

“““““““ Years
(A) s (B) 10
© 15 (D) 30

Tree plantation month of July/August
€very year is known as
(A) van Mahotsay
(B) plantation month
(C) forest conservation month
(D) wildlife month

———————— -- is responsible for acid rain'.
(A) Carbon dioxide

(B) Sulphur dioxide

(C) Carbon monoxide

(D) Chlorofluorocarbons

Which of the following groups contains all
synthetic substances? -

(A) nylon, terylene, wool

(B) cotton, polycot, rayon

(C) PVC, polythene, bakelite

(D) acrylic, silk, wool

96.

(C) zfifzm a1 Q)
ngw”tﬁﬂﬁwwﬁgi
TH gRT o e W

g feard &m

(A) 5 (B) 10

\(€Y 15 (D) 30

98. wirad ST /s @1 @Y SRIA AT 918

100. Frrfifaa wet 3 3 et S dedfim
o g7
(A) e, T, o
(B) *9TH, wifiz, gty
(C) dt =t i, gifafis, EEiT )
\¢D) uhisforer, m, o

Space for rough work
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